o(d dxy) (cm)

Ratig:

o(d o) (rad)

e
; : "; : AR
15--*+----+*-+ ------ N FRE SR SRER R

.........................................................................

o(d dz) (cm)

R 5
TS . £ FE 2 *+*+H#**+*

Ratio
F

0.95 i

3 2 1 0 1 2 3

3 2 -1 0 1 2 3

—=— DQM_V0001_R000000001__Global__CMSSW_mktt50i7_RECO mline)
—e— DQM_V0001_R000000001__Global__CMSSW_mktt50i8_RECO
—«— DQM_V0001_R000000001__Global__CMSSW_mktt50i9 RECO

........................................................................

o p_/p.)

®3T 2 -1 0 1 2 3
TP ® (PCA to beamline)

> 1 0 1 2 3

TP ® (PCA to beamline)



	Contents
	Page 1


